Nashisk Municipal Corporation , Nashik Electrical Department

E-Quotation Notice no. 3 Year 2016 – 17

Name of work	Providing Electrification work at watchnalay in P.no.60 Nashik road Div		
Availability of Quotation Form	Office of The Executive Engineer, Electrical Department, Rajiv Gandhi Bhavan, Nashik		
Place of Work	watchnalay in P.no.60 Nashik road Div		
Period for Availability of Quotation Form	29/11 / 2016 to 05/12/2016		
Submission of Quotation Form	05/12/2016		
Place of Submission of Quotation Form	Office of The Executive Engineer, Electrical Department, Rajiv Gandhi Bhavan, Nashik		

Sd/-

Deputy Engineer Electrical Department NMC, Nashik

Name of work : Providing Electrification work at watchnalay in P.No. 60 Nashik road Div

Sr.No	Item	Unit	Qty	Rate	Amount
1	1-9-16				
	Point wiring in PVC trunking (casing-				
	capping) with 1.0 sq.mm FR grade	Point	25	304.00	7600.00
	copper wire with flush type switch and				
	required accessories as per				
	specification No: WG-PW/SW				
2	1-9-13				
	Wiring for plug on board with Switch	Point	03	88.00	264.00
	socket with copper wiring and earthing				
	as per specification No:WG-PW/SW				
3	1-7-13				
	Supplying and erecting flush type	Nos	01	195.00	195.00
	shockproof plug socket 6A.& 16A (6pin)				
	with 16A switch combined with				
	indicator lamp and fuse with gang				
	box on wooden board.				
4	1-3-3				
	Supplying & erecting mains with 2x1.5	Mtr	10	36.00	360.00
	sq.mm F.R copper PVC insulated wire laid in provided				
	conduit/trunking/inside pole/Bus bars or				
	any other places as per specification				
	No: WG-MA/BW				
5	1-3-5				
	Supplying & erecting mains with 2x2.5				
	sq.mm F.R copper PVC insulated	Mtr	15	52.00	780.00
	wire laid in provided conduit/trunking/inside pole/Bus bars or				
	any other places. as per specification				
	No: WG-MA/BW				
6	5-4-14				
	Supplying and erecting single pole and				
	neutral distribution board (SPNDB)	Nos	01	763.00	763.00
	surface/flush mounted with 2 ways for				
	incoming and 4 ways for outgoing SPMCBs on iron frame/wooden board,				
	as per specification no. SWSWR /				
	MCBDB				
7	5-3-1				
	Supplying, erecting & marking SPMCB	Nos	04	244.00	976.00
	0.5A to 5A in provided distribution				
	board as per specification No. SW- SWR/MCB				
8	5-1-1				

	Supplying and erecting Insulated D.P. switch surface type/ flush type 32A 250V with indicator lamp & fuse as per specification No. SW-SWR/BDP	Nos	02	170.00	340.00
9	5-3-9 Supplying, erecting & marking DPMCB 40A to 63A, B- series (for lighting) in provided distribution board as per specification No. SW-SWR/MCB	Nos	01	657.00	657.00
10	2-4-9 Supplying and erecting approved make white stove enamelled / powder coated CRCA sheet not less than 0.7 mm thick chalk board type fluo.fitting of 1 xT8 36/40 W.with 40 W Electronic Ballast having pf > 0.90 fixed at ceiling or on wall as per specification no. FGIDF/CBF	Nos	07	907.00	6349.00
11	2-1-11 Supplying and erecting T8 Fluroscent tube triphosper/Turband phosper 36 W.	Nos	07	142.00	994.00
12	9-1-1 Providing earthing with Galvanised cast iron earth plate size 60 x 60 x 0.6 cm complete with all materials, testing & recording the results as per specification No. EA-EP	Nos	01	4018.00	4018.00
13	7-1-4 Supplying, erecting & terminating PVC armoured cable 2 core 10 sq mm aluminium conductor with continuous 5.48 sq mm (12 SWG) G.I. earth wire complete erected with glands & lugs, on wall/ trusses/pole or laid in provided trench/ pipe as per specification no. CB-LT/AL	Mtr	40	137.00	5480.00
14	16-1-1 Making trench in soft soil of suitable width and depth as per IS for laying provided L.T cable up to 25 sq mm complete. As per specification No. CW-EXN-CTR	Mtr	30	128.00	3840.00
15	2-13-3 Supplying and erecting regular/				

	standard model Ceiling fan of 1200 mm. sweep complete erected in position as per specifcation no. FG	Nos	04	1794.00	7176.00
16	2-13-16 Supplying and erecting Exhaust fan medium duty 230 V A.C. 50 cycles 225 mm. 1400RPM with condensor complete erected in position with necessary materials. Fanmotor with moisture proof treatment and 'E' class insulation and marking Sr. No. & date of erction.	Nos	02	1731.00	3462.00
17	2-12-10 Supplying and erecting electronic type step regulator for ceiling fan 600/ 900/ 1200/ 1400 mm. sweep, complete erected on provided	Nos	04	201.00	804.00
18	7-6-2 Supplying & erecting G.I. pipe 'A' class 40 mm dia. erected for enclosing PVC armoured cable on wall/pole as per specification No. CW-PLB/GP	Mtr	03	264.00	792.00
19	2-1-25 Supplying and erecting CFL 27 to 36 W with ceramic adopter p.f. more than 0.9	Nos	04	345.00	1380.00
20	2-12-2 Supplying & fixing Anchor type fastener Fan hook , with 2 Nos of 10 mm dia x 75 mm long with necessary materials for Ceiling Fan.	Nos	04	90.00	360.00
				Total	46590.00

Sd/-Deputy Engineer Electrical Department Nashik Muncipal Corporation